
	taragENnaMedIm,IkMNteKaledATm¶n; sRmab;kumar 6-59 Ex 

	 Tm¶n;)anføwgenAeBlcUl a,b
	eKaledATm¶n; ³  
eLIgTm¶n;)an 15° 
	 Tm¶n;)anføwgenAeBlcUl a,b
	eKaledATm¶n; ³  
eLIgTm¶n;)an 15°

	 4.1
	4.7
	11.1
	12.8

	4.3
	4.9
	11.3
	13.0

	4.5
	5.2
	11.5
	13.2

	4.7
	5.4
	11.7
	13.5

	4.9
	5.6
	11.9
	13.7

	5.1
	5.9
	12.1
	13.9

	5.3
	6.1
	12.3
	14.1

	5.5
	6.3
	12.5
	14.4

	5.7
	6.6
	12.7
	14.6

	5.9
	6.8
	12.9
	14.8

	6.1
	7.0
	13.1
	15.1

	6.3
	7.2
	13.3
	15.3

	6.5
	7.5
	13.5
	15.5

	6.7
	7.7
	13.7
	15.8

	6.9
	7.9
	13.9
	16.0

	7.1
	8.2
	14.1
	16.2

	7.3
	8.4
	14.3
	16.4

	7.5
	8.6
	14.5
	16.7

	7.7
	8.9
	14.7
	16.9

	7.9
	9.1
	14.9
	17.1

	8.1
	9.3
	15.1
	17.4

	8.3
	9.5
	15.3
	17.6

	8.5
	9.8
	15.5
	17.8

	8.7
	10.0
	15.7
	18.1

	8.9
	10.2
	15.9
	18.3

	9.1
	10.5
	16.1
	18.5

	9.3
	10.7
	16.3
	18.7

	9.5
	10.9
	16.5
	19.0

	9.7
	11.2
	16.7
	19.2

	9.9
	11.4
	16.9
	19.4

	10.1
	11.6
	17.1
	19.7

	10.3
	11.8
	
	

	10.5
	12.1
	
	

	10.7
	12.3
	
	

	10.9
	12.5
	
	




a b¤Tm¶n;minkMNt;enAeBlehIm Or weight free of oedema 

b ebITm¶n;enAeBlcUlCaelxKUrRtUvrujTm¶n;eLIgelIrhUt0>1 KRk. ]TahrN¾ Tm¶n;eBlcUl 9>2 KRk eBlrujeLIgelIRtUvCa9>3 KRk 
If weight on admission is pair, round the weight up with 0.1 kg. Example: weight on admission is 9.2 kg, 
use 9.3 kg as weight on admission.






